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LISTENING COMPREHENSION (40 MIN.) In Section A, B and

C you will hear everything ONLY ONCE. Listen carefully and then

answer the questions that follow. Mark the correct response to each

question on the Colored Answer Sheet. SECTION A

TALKQuestion 1 to 5 refer to the talk in this section. At the end of

the talk you will be given 15 seconds to answer each of the following

five questions.Now listen to the talk.1. The sexual harassment of

problem of women in Navy was interfered in by ____ in 1987.A. the

PentagonB. the White HouseC. the Parliament D. the Grand Jury正

确答案是2. Two recent reports are about problems ____.A. in the

Pacific regionB. in the Atlantic regionC. in Florida and MarylandD.

in Boston and Hawaii 正确答案是3. About ____ of act-duty Naval

personnel are now women.A. 5%B. 10%C. 15%D. 20%正确答案

是4. What happened in the U.S. Naval Academy?A. A female

midshipman was raped.B. A female midshipman was dismissed.C. A

female midshipman was given a letter of reprimand.D. A female

midshipman was taken to a man bathroom.正确答案是5. Which of

the following is not suggested in the talk?A. There should be more

women in the Navy.B. There are some old attitudes towards

women.C. Some senior officer should be blamed.D. The

punishment for offenders is not severe enough. 正确答案

是SECTION B INTERVIEWQuestion 6 to 10 are based on an



interview. At the end of the interview you will be given 15 seconds to

answer each of the following question.Now listen to the interview.6.

Where does the conversation take place?A. In a workshopB. In a

meeting roomC. In a friends houseD. In a pub 正确答案是7.

Which of the following is not true about Richard?A. He is a driver.B.

He has two kids.C. He is now unemployed.D. His wife is a secretary. 

正确答案是8. How much does the manager get a week?A. 100.B.

66.50.C. 44.D. 140. 正确答案是9. Whats the managers problem?A.

Work.B. House.C. Marriage.D. Children. 正确答案是10. How

much does a person get in unemployment benefits?A. About 25 a

week.B. About 35 a week.C. About 20 a week.D. About 40 a week. 
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